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Quiz APPLICATIONS OF NORMAL CURVES 11-10-16 Hour1234567

The weight of a certain type of pumpkin is normally distributed and typically is 36.7 pounds with a standard deviation of
3.5 pounds :

1. Yourandomly selected a pumpkin in the bottom 24% of all pumpkins of this type
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Sketch the scenario on the provided normal curve

2. You randomly selected a plant in the top 82% of all pumpkins of this type
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Sketch the scenario on the provided normal curve <
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3. Determine the probability that you randomly select a pumpkin that weighs between 37 and 39 pounds - Q
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The weight of a certain type of pumpkin is normally distributed and typically is 35.6 pounds with a standard deviation of
2.4 pounds :

1. Yourandomly selected a pumpkin in the bottom 12% of all pumpkins of this type
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Sketch the scenario on the provided normal curve

2. You randomly selected a plant in the top 64% of all pumpkins of this type

What is the probability statement for this scenario? P (X 2. T) = O £ b LECD
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3. Determine the probability that you randomly select a pumpkin that weighs between 34 and 37 pounds
What is the probability statement for this scenario? P (>»Y £ x & 'g'—?\ = O rtféfr]é

Sketch the scenario on the provided normal curve
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The weight of a certain type of pumpkin is normally distributed and typically is 32.9 pounds with a standard deviation of
3.5 pounds :

1. Yourandomly selected a pumpkin in the bottom 18% of all pumpkins of this type
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Sketch the scenario on the provided normal curve
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2. Yourandomly selected a plant in the top 76% of all pumpkins of this type

What is the probability statement for this scenario? PC>< ZT) - o
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Sketch the scenario on the provided normal curve 4 -
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3. Determine the probability that you randomly select a pumpkin that weighs between 38 and 40 pounds
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Sketch the scenario on the provided normal curve
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4. The length of a float in the MACY’s Thanksgiving Day parade normally distributed and typically is 5.2 meters
with a standard deviation of 0.5 meters:

You are told to determine the maximum length that would make the following statement true:

0>
Macy’s has told us that 75% of all floats are between 4.8 meters and meters

YOU MUST SHOW WORK TO RECEIVE CREDIT
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5. The weight of a certain type of frozen turkey is said to be normally distributed and is typically 15.4 pounds with
a standard deviation of 1.6 pounds

You are told to determine the minimum weight that would make the following statement true:
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The Poultry Commission states that 25% of all turkeys are between \33 pounds and 14.8 pounds
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Sketch the scenario on the provided normal curve



4. The length of a float in the MACY’s Thanksgiving Day parade normally distributed and typically is 6.2 meters

with a standard deviation of 0.75 meters:
You are told to determine the maximum length that would make the following statement true:
Macy’s has told us that 43% of all floats are between 5.6 meters and meters
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5. The weight of a certain type of frozen turkey is said to be ormally’ dlstrlbuted and is tyﬁlcally 17.4 pounds with

a standard deviation of 1.8 pounds
You are told to determine the minimum weight that would make the foiiowing statement true:

The Poultry Commission states that 35% of all turkeys are between l l( ' ' pounds and 16.9 pounds
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4. The length of a float in the MACY’s Thanksgiving Day parade normally distributed and typically is 7.6 meters
with a standard deviation of 0.55 meters:

You are told to determine the maximum length that would make the following statement true:
Macy’s has told us that 48% of all floats are between 7.2 metersand __ ' q meters
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5. The weight of a certain type of frozen turkey is said to be normally distributed and is typically 18.6 pounds with
a standard deviation of 2.8 pounds
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You are told to determine the minimum weight that would make the followin7 statement true
The Poultry Commission states that 40% of all turkeys are between pounds and 17.9 pounds
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